151120-questions.notebook November 20, 2015

B G, (a0, 2,0
gg‘ r...d Hhe actvbyee Fhad s

(1) AN ) =2
2-b+e =-2

(x,0) Al +bA) e =) %\J /
qa +rb+C =1 {,Jé |
C1.0) (" +h(-2) +C =
da -2b +C =1
a-b+c =-2 -y () =-Ha i—‘l.’:\"{C"s
(‘ﬂﬂt b +C = | + (2) Wy b +C = )
1) qa-ab FC=d et -3¢ = 9
_da) -Ma +4b-He =3
F () Ha vk ¥C 7 :
- h=3a =
() wh—3c= 7 2 7
(») 66 -3¢ =79 _30) -6h +a¢ =27
(1') h -3¢ =9
Ge=-'8
-18 3=
=0 C
Gy 26-3¢=17 [ ’
2‘."’3(—3\1— 9
2+9=9 Q) =-b+t=-%

ab=0 a-0-3 =-2

)




151120-questions.notebook November 20, 2015

9=x" 7
y =¥ ¥ = ¥
x'=# =0
w (x=1) =0
" =0 on ~= |
(0,0) =7 y=0 oa y=/ ﬁ‘:’;j




151120-questions.notebook November 20, 2015

guedes by
wed Bee LT @)

Nto0 nooh




151120-questions.notebook November 20, 2015

Grad< ‘e

Scom lewm

E'-’/W\w'j tem— (W'-'H" bohu 7«4J¢ rwwmanj)_
You Cwec Toar L Jodu't ROS

oA yOH.

ﬂ.u-\ 1-: pu\.‘L “ +”V raJcS,



	Page 1: Nov 20-8:04 AM
	Page 2: Nov 20-8:28 AM
	Page 3: Nov 20-8:42 AM
	Page 4: Nov 20-8:48 AM

